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2.
get_max 3 4

#include <stdio.h>

int main()

{1 ;

int a[3][4]={{1,5,3,4},{9,11,7,6}{-10,10,-5,2}} max;



max= _ 2 ;

printf  "max=%d\n", max ;
return O;
¥
int get_max(int a[][4])
{
int *p,*end,;
int max = a[0][0];
end = a[0]+12;

for (p=a[0]; p<end;_3 )
if(4 )
max = *p;

return 5

int get_max(int a[][4])
get_max(a)
p++

max<*p

o B~ wWw N B

max

IP



ASH
j' ~_ Ethemet 0/0/1 r2 )
;ET ;E?ﬂ" 97.4
GEOJQ‘O\ - .{’
| = [ oon /
GE 0rort GE Qi it
i IGEOJQH Ethemet O/O/1 S, .f
GE 0/oV10 o~ | l\ GE 0VOV12 192.168.2::.8/29
Ethernet 0/V1 GE oot Ethemet /011 mhinEe
;’i Ethemnet u'ml‘ ;£3
= y
192. 16;:\:’;6. e/29
T
IP
PC1 Ethernet0/0/1
PC2 Ethernet0/0/1
PC3 Ethernet0/0/1
PC4 Ethernet0/0/1
PC5 Ethernet0/0/1
PC6 Ethernet0/0/1
R1 GE0/0/1
R1 GE0/0/2

IP

PC1 Ethernet0/0/1 | 192.168.10.1 | 255.255.255.248 | 192.168.10.6

PC2 Ethernet0/0/1 | 192.168.10.2 | 255.255.255.248 | 192.168.10.6

PC3 Ethernet0/0/1 | 192.168.10.3 | 255.255.255.248 | 192.168.10.6




PC4 Ethernet0/0/1 | 192.168.10.9 | 255.255.255.248 | 192.168.10.14

PC5 Ethernet0/0/1 | 192.168.10.10 | 255.255.255.248 | 192.168.10.14

PC6 Ethernet0/0/1 | 192.168.10.11 | 255.255.255.248 | 192.168.10.14

R1 GE0/0/1 192.168.10.6 | 255.255.255.248
R1 GE0/0/2 | 192.168.10.14 | 255.255.255.248
R1 0.0.0.0 0.0.0.0 10.10.10.2
R2 0.0.0.0 0.0.0.0 10.10.10.1
)
1. Ul U2
+15V -15V
1 RF=100K R1=10K ui=0.5V uol uo2
2 R=10K R2 R3
f+ o f}@
1 1 Avl=-RF/R1=-10
uol=ui*Av1=0.5*(-10)=-5V;
2 Av2=-R/R=-1

uo2=uol*Av2=-5*(-1)=5V;
2 R2=RF//R1=100K//10K= 10K;
R3= R//R=10K//10K=5K;
2. C n n< 1000

1+2+43+...4n




#include <stdio.h>
main()

{

int n=0,sum=0;
printf(" 0~1000 "),
scanf("%d",&n);
If(n>0 && n<=1000)
{

for(i=1;i<=n;i++)

{

SUM=sum-i;
¥
printf(sum=%d",sum);

else

printf(" "),
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172.16.1.129-172.16.1.190
255.255.255.192
172.16.1.128

172.16.1.191

172.16.1.193-172.16.1.254
255.255.255.192
172.16.1.192

172.16.1.255



